FEERIBETE-A)VIHER 1/17
EEBIETE Q) THER
=ANME
F2| owEB HEBH 'Uax | “hag | shew | wask
(mSv/h) | (mSv/h) | (Bg/em?) | (Bg/em®)

11/1,2,6,7,8,9,10,
1 ,123i’,1242',1254,1267',1278’,220 TOLRERE MBEY— K 15E-2

9,30
2 11/9 YWY R (ERS Y SREREY— k) <5.1E-1 9.5E-6
3 11/10 RIREEE Y NINTARN 5.0E-1 5.0E-1
4 11/10 FREEHESR CyNINTRA 6.0E-2 1.5E-1
5 11/10 RREREDR BIREEEX 2.0E-2 2.0E-2
6 11/10 SPTERE. 2RENER 1.2E-2 1.1E-2
7 11/10 BREEEE Sy NITNTAN <4.6E-1
8| 11/3 B RIRE R 1.0E-2 10E-2 <4.9E-1
9 10/30 —EEE FHEEHR £AkHA <4.6E-1
10 10/27 —EEE FHEEHR £AkHA <4.6E-1
11 10/25 —EE FHEEHR £AkHA <4.6E-1
12 10/23 —EE FHEEHR E£AkHA <4.6E-1
13| 10/30 —BRE ESHR HAA— R <46E-1
14 10/27 —BRE F=WEFZ ALN—FA <4.6E-1
15|  10/25 —BRE ESHR HAA— R <46E-1
16 10/24 —BRE F=WEFZ ALN—FA <4.6E-1
17 10/23 —BRE ESHR HAA— R 5.0E-4 <1.0E-2 <3.7E-1
18 10/30 —BRE F—HEFxR EKHR <4.6E-1
19 10/27 —BRE F—HEFxR SKHA <4.6E-1
20 10/25 —BRE FHEFxR SKHA <4.6E-1
21 10/25 —BRE F—HEx YITRLUREE 2.5E-1
22 10/23 —BRE F—HEFxR SKHA <4.6E-1
23 10/31,11/3 RIEREHER vy /NNTNITRA 9.0E+0 1.1E+1
24 10/27 RIREEE Y NINTARN 5.0E-1 5.0E-1
25 10/31 FREEHESR CyNINTRA 5.0E-2 1.5E-1
26| 10/31 RIREER SoREEHESR 4.0E-1 4.0E-1
27 10/31 SPTRE. SRENEE 6.0E-3 <1.0E-2
28 10/30 SRENEE IFL STy 7 2.1E+0
29 10/26 SRENEZEE IFL STy 7 2.1E+0

10/2,3,4,5,6,10,1
30 195053019855 TOERETRE ABY—K 1.5E-2

27,30,31

10/2,3,4,5,6,10,1
31 ]912(}231241;5126 TieimRE  1FL2FL 4.9E-1

27,30,31
32| 10/31 TOERIRE 1B BATU7 17E+0
33 10/31 ERERERE Sy NITNTVARA <4.6E-1
34|  10/26 2354 T/B mAIvY—K 7.5E-1

11/1,2,6,7,8,9,10,
35 ,123i’,12%,12€i,12%,127é?20 TieimRE  1FL2FL 4.9E-1

9,30
36| 112 SRENEE IFL Y TUVTSyoE BT T 9.0E+0 2.3E+0
37 11/10 —BRE FHEFxR EKHA <4.6E-1
38 11/8 —BRE FHEFxR SKHA <4.6E-1
39 11/6 —BRE F—HEFxR EKHA <4.6E-1
40 11/3 —BRE FHEFxR EKHA <4.6E-1
41 11/1 —BRE FHEFxR SKHA <4.6E-1
2 111 —BRE SR <4.9E-1
43 111 —BRE BE—E% HLA—REY 5.0E-3 <1.0E-2
44 11/9 —BRE F=MEFR HALN—FR <4.6E-1
45 11/2 —BRE F=MEFZ ALN—FR <4.6E-1
46 1/1 —BRE F=MHEFZ ALN—FR <4.6E-1
47 11/10 —EREE HEEHR £AkHA <4.6E-1
48 11/8 —RRE FMER £KHA <4.6E-1
49 11/7 —BRE FUER EXEBBIAI <4.6E-1




ERBE-AITHR 2/7
EEBEBEE-AVTHEER
xAE
F2| owEB HEBH ‘Sae | hax | shee | burs
(mSv/h) | (mSv/h) | (Bg/em?) | (Bg/em®)

50 11/6 —EE FHEEHR £AkHA <4.6E-1
51 11/3 —EREE FHEEHR E£AkHA <4.6E-1
52 11/2 —BRE FMER SARRYREE 1.0E-1 1.0E-1
53 11/1 —EE FHmEHR £AkHA <4.6E-1
54 11/1 —BRE FMER K@ <4.9E-1
55 11/1 —BRE FHfEX 2.5E-2 2.5E-2
56 11/27 ALPSTU7 AR/BORXIJO—T4L% 156E-2 2.3E+1
57 11/28 MEHALPSTY7” HIC MEDA7(Y 5 LEER) 2.0E-3 <1.0E+0 8.2E+1 <9.3E-5
58 11/27 MEHALPSTY7” HIC MEDIA-3(GX) 1.8E-1 <1.0E+0 <6.5E-1 <9.3E-5
59 11/27 MEALPSTY7 REFEESC 4.0E-2 3.0E+0 1.6E+2 <9.3E-5
60 11/24 MEALPST Y7 REFEESC 71E+1 <9.3E-5
61 11/22 MEALPST Y7 REFEELC 8.8E+1 <9.3E-5
62 11/21 MEALPSTY7 REFEESC 8.1E+1 <9.3E-5
63 11/21 MEHALPSTY7” HIC BX%SLUDGE® 6.0E-2 4 0E+0 2.1E+2 <9.3E-5
64 11/28 oI LAREBEE-FRERS FMHEH HIC 9.0E-1 7.0E+1 1.6E+2 1.6E-3
65 11/28 oY LAREE-FRERS FMHEH HIC 6.5E+0 3.6E+2 >2.7E+2 4 5E-4
66 11/28 o LARBEE-FRERS FHEH HIC 7.0E+0 4 5E+2 >2.7E+2 94E-4
67 11/27 o LAREE-FRERS FHEH HIC 8.0E+0 6.0E+2 9.4E+1 2.7E-3
68 11/27 oI LAREE-FRERS FHEH HIC 7.0E+0 3.5E+2 2.4E+2 1.0E-3
69 11/27 o LARBEE-FRERS FHEH HIC 1.3E+0 2.6E+2 >2.7E+2 1.1E-3
70 11/24 o LAREE-FRERS FHEH HIC 8.5E+0 8.5E+2 >2.7E+2 2.1E-3
71 11/24 oI LAREE-FRERS FHEH HIC 2.2E+0 1.6E+2 2.3E+2 5.0E-4
72 11/24 o LARBEE-FRERS FHEH HIC 5.0E+0 3.5E+2 1.0E+2 4 5E-4
73 11/22 o LAREE-FRERS FHEH HIC 2.0E+0 7.5E+1 >2.7E+2 2.7E-3
74 11/22 oI LAREE-FRERS FHEH HIC 4 5E+0 2.8E+2 1.3E+2 5.0E-4
75 11/21 o LARBEE-FRERS FHEH HIC 5.0E+0 4.0E+2 >2.7E+2 1.9E-3
76 11/21 o LAREE-FRERS FHEH HIC 7.5E+0 4 5E+2 2.5E+2 1.3E-3
77 11/21 oI LAREE-FRERS FHEH HIC 6.0E+0 3.6E+2 >2.7E+2 1.6E-3
78 11/30 151 42—EVEERE 1FL 3.0E+0 3.5E+2
79 12/4 28 A—EVEE 1EE—42—IIL—LA 15 2—EVER 2 1.5E+1 2.7E+2
80 11/30 I 2—EVEE 1B 2B 45H 2—CEUEE 1. 2B 5.0E-1 1.1E+0
81 12/5 TILTZRERBEH - #:5%) 7.0E-2 1.0E+0 2.1E+1
82 12/7 MIBKR/Ny TR UHEY 9.5E-2 1.9E+1
83 11/27 451 RW/B 1FL 2.5E+0 8.2E+1
84 12/1 154 R/B dcfl 1.7E+2 >1.33E+3 <6.8E-6
85 11/30 25 A—FEr 1FL BE—42—%F 2.0E+0 5.5E-1
86 11/2 [BIMRIRER 20 5.0E-3
87 12/4 254 T/B 1R 3.0E+0
88 11/29 AN TH/ERA /AN 5@ Y 5.0E-3 3.1E+1
89 12/4 354 T/B 1FL E—4—%= 3.0E+0
90 11/1,2 H5xTy7 59E-2 6.0E-2 <15E-5
91 11/2 HexTy7 4.0E-2 1.5E-1 <24E-5
92 12/12 258 A—EVEE 1B E—42I U7 1.2E+2 >2.8E+2
93 12/12 35 A—EVEE 1B E—&2IT U7 1.4E+2 >2.8E+2
94 12/12 AV ) UAEHEFR (AN S WK E A HT) 1.0E-3 <2.6E-1 <7.6E-6
95 12/7 wEALPSTU7 HIC BZ*SLUDGE1 8.0E-2 7.0E+0 9.8E+0 <9.3E-5
96 12/7 MEHALPSTY7” HIC BX%SLUDGE® 8.0E-2 6.0E+0 2.1E+1 <9.3E-5
97 12/5 WEZRALPSTIU7Z /0OXR7JO—TJ4)L2— 1.6E+0 5.6E+1
98 12/6 oI LAREE-FRERS FHEH HIC 5.0E+0 4 5E+2 >2.7E+2 1.3E-3
99 12/6 oY LARBEE-FRERS FMHEH HIC 1.7E+1 1.0E+3 2.2E+2 2.9E-3

100 12/5 oI LAREE-FRERS FHEH HIC 2.5E+0 2.5E+2 >2.7E+2 8.3E-4

101 10/4,11 GemavyxT )7 G6-Clary <3.43E-1

102 10/6,10,11 GemavyxT )7 G6-Clavy 1.0E+0 6.5E+1

103 9/27,10/3,11 GemavyxT )7 G6-C22>7% 4 0E+0 9.0E+1

104 9/26,10/11 GemavyxT )7 G6-C22>7% <3.27E-1

105 10/10 GemAvoy )7 EDIRVY 3.0E-1 3.0E-1 <3.24E-1

106 10/10 GemavyxT )7 G6-Clavy <2.93E-1
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(mSv/h) | (mSv/h) | (Bg/em?) | (Bg/em®)
107 10/6,10 GemavyxT )7 G6-Clavy <4.21E-5
108 10/3 GemavyxT )7 G6-C22>7% <2.89E-1
109 10/3 GemAavyxT)7 EDIARVY 2.0E-1 2.0E-1 <3.18E-1
110 9/27,10/3 GemavyxT )7 G6-C22>7% <3.28E-5
111 9/25,26,27 GemavyxT )7 G6-C8RY 1.7E+0 5.0E+1
112 9/22,27 GemavyxT )7 G6-C82Y <3.12E-1
113 9/26 GemAvy )7 EDIARVY 3.0E-1 3.0E-1 <3.05E-1
114 9/26 GemavyxT )7 G6-C82Y <3.05E-1
115 9/25,26 GemavyxT )7 G6-C8R2Y <3.41E-5
116 9/20,21,22 GemavyxT)7 G6-C1avy 1.0E+0 3.0E+1
117 9/14,22 GemavyxT )7 G6-C1avy <3.12E-1
118 9/21 GemAvy )7 EDIRVY 1.5E-1 1.5E-1 <2.97E-1
119 9/21 GemavyxT )7 G6-CTavy <2.97E-1
120 9/20,21 GemavyxT )7 G6-CTavy <3.89E-5
121 9/14,15,20 GemavyxT )7 G6-C32>7% 1.0E+0 4 0E+1
122 9/13,19 GemavyxT )7 G6-C32>Y <3.34E-1
123 9/15 GemAavyxT)7 EDIARVY 2.5E-1 2.5E-1 <3.55E-1
124 9/15 GemaryTY7 G6-C3%27 <2.97E-1
125 9/14,15 GemavyxT )7 G6-C32>7% <4.02E-5
126 9/713 Gedr>vo )7 G6-B6xvY <3.34E-1
127 9/11,1213 Gedr>vo )7 G6-B6xvY 3.0E-1 2.0E+1
128 9/12 Goedz>o )7 EDIRVY 2.0E-1 3.0E-1 <3.79E-1
129 9/12 Gedr>vo )7 G6-B6xvY <2.96E-1
130 9/11,12 Gedr>vo )7 G6-B6xvY <4 48E-5
131 9/47.11 Gedr>vo )7 G6-B5S2VY 2.8E+0 8.0E+1
132 8/31,9/8 Gedr>vo )7 G6-B5S2VY <3.34E-1
133 9/7 Goedz>o )7 EDIRVY 3.0E-1 3.0E-1 <4.02E-1
134 9/7 Gedr>vo )7 G6-B5S2VY <3.13E-1
135 9/4.7 Gedr>vo )7 G6-B5S2VY <4.25E-5
136 11/7,8,10 Gedar>voxT)7 G6-B22Y 8.0E-1 9.0E+1
137 10/30,11/9 Gedr>vo )7 G6-B22Y <3.23E-1
138 11/7.8 Gedr>voxT)7 G6-B22vY <4 54E-5
139 11/8 Gedar>voxT)7 G6-B22Y <3.12E-1
140 11/8 H8%>4%xT!)7 H8-B1RVY 3.0E-1 5.0E-1 <3.12E-1
141 10/25,30 Gedr>vo )7 G6-B3xvY <3.05E-1
142 10/27 Gedr>vo )7 G6-B3xvY <3.04E-1
143 10/26,27 Gedr>vo )7 G6-B3ZvY <3.46E-5
144 10/26,27 Gedr>vo )7 G6-B3ZvY 1.0E+0 6.0E+1
145 10/27 Goedz>o )7 EDIRVY 2.0E-1 4.0E-1 <3.04E-1
146 10/18,24,27 Gedtar>vy Y7 G6-B10R Y 1.0E+0 6.0E+1
147 10/17,25 Gedtar>vy Y7 G6-B10R Y <3.05E-1
148 10/18,24 Gedar>vy Y7 G6-B10R Y <3.95E-5
149 10/24 Gedtar>vy Y7 G6-B10R Y <2.95E-1
150 10/24 Goedz>o )7 EDIRVY 2.5E-1 <1.0E+0 <2.95E-1
151 10/13,16,17 Gedr>vo )7 G6-B4n>Yy 2.8E+0 9.5E+1
152 10/12,17 Gedr>vo )7 G6-B4n>Yy <2.95E-1
153 10/16 Goedz>o )7 EDIRVY 2.0E-1 8.0E-1 <3.74E-1
154 10/16 Gedr>vo )7 G6-B4n>Yy <3.12E-1
155 10/13,16 Gedr>vo )7 G6-B4n>Yy <3.54E-5
156 11/28 H8%>4%xT!)7 H8-B1R2Y 2.5E-1 3.0E-1 <2.87E-1
157 11/27 H8%>4%xT!)7 H8-B1RVY 2.0E-1 2.0E-1 <3.34E-1
158 11/22 H8%>4%xT!)7 H8-B1RVY 2.0E-1 2.5E-1 <3.4E-1
159 11/21 H8%>4%xT!)7 H8-B1Z2Y 2.0E-1 4.0E-1 <3.34E-1
160 11/20 H8%>4%xT!)7 H8-B1RVY 2.5E-1 2.5E-1 <3.1E-1
161 11/16 H8%>4%xT!)7 H8-B1RVY 2.0E-1 3.0E-1 <3.1E-1
162 11/15 H8%>4%xT!)7 H8-B1RVY 5.0E-1 5.0E-1 <2.97E-1
163 11/13 H8%>4%xT!)7 H8-B1RVY 2.0E-1 3.0E-1 <3.1E-1
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(mSv/h) | (mSv/h) | (Bg/em?) | (Bg/em®)
164 11/10 H8%>4%xT!)7 H8-B1RVY 5.0E-1 5.0E-1 <2.87E-1
165 11/27,28,29 Gedr>voxT)7 G6-B1ary 8.0E-1 6.0E+1
166 11/24,29 Gedr>voxT)7 G6-B1avy <3.05E-1
167 11/27,28 Gedr>voxT)7 G6-B1ary <3.91E-5
168 11/28 Gedar>voxT)7 G6-B1avy <2.87E-1
169 11/22,24 Gedr>voxT )7 G6-A2%22Y 1.0E+0 5.0E+1
170 11/21,24 Gedr>vo T )7 G6-A2%22Y <3.4E-1
171 11/22 Gedr>vo T )7 G6-A2%22Y <3.79E-5
172 11/22 GedrvoxT )7 G6-A2%22Y <3.4E-1
173 11/17,20,21 Gedr>vo )7 G6-B9ZVY 2.5E+0 6.0E+1
174 11/16,21 Gedr>vo )7 G6-B9ZVY <3.4E-1
175 11/17,20 Gedr>vo )7 G6-B9ZVY <3.87E-5
176 11/20 Gedr>vo )7 G6-B9ZVY <3.1E-1
177 11/14,15,16 Gedr>vo )7 G6-B8RVY 1.0E+0 4 5E+1
178 11/13,16 Gedr>vo )7 G6-B8R VY <3.25E-1
179 11/14,15 Gedr>vo )7 G6-B8RVY <3.81E-5
180 11/15 Gedr>vo )7 G6-B8RVY <2.97E-1
181 11/10,13 Gedr>voxT)7 G6-B7T2vY 1.5E+0 8.0E+1
182 11/9,13 Gedr>voxT)7 G6-B72vY <3.25E-1
183 11/10 Gedr>vo )7 G6-B72Y <3.26E-5
184 11/10 Gedr>voxT)7 G6-B7T2vY <2.87E-1
185 11/24,27,28 Hed2>o )7 HEN-ASZ VY 6.0E+0 3.0E+2
186 11/24,28 Hed2>o )7 HEN-ASZ VY <3.43E-1
187 11/24,27 Hed2>o )7 HEN-ALZ VY <3.73E-5
188 11/27 Hed2>o )7 HEN-ASZ VY <3.34E-1
189 11/20,21,22 Hed2>o )7 HEN-Adz Y 5.0E+0 3.0E+2
190 11/22 Hed2>o )7 HEN-Adz Y <3.31E-1
191 11/20,21 Hed2>o )7 HEN-Adz Y <3.73E-5
192 11/21 Hed2>o )7 HEN-Adz Y <3.34E-1
193 11/15,16,17 Hed2>o )7 HEN-A3Z Y 2.0E+0 1.0E+2
194 11/15,17 Hed2>o )7 HEN-A3Z Y <3.15E-1
195 11/15,16 Hed2>o )7 HEN-A3Z Y <3.52E-5
196 11/16 Hed2>o )7 HEN-A3Z Y <3.1E-1
197 11/10,13,14 Héed%2>4o )7 HEN-C3x>%Y 4 0E+0 1.6E+2
198 11/10,14 Héed%2>o )7 HEN-C3a>”Y <3.13E-1
199 11/10,13 H6d%2>o )7 HEN-C3x2>”Y <3.9E-5
200 11/13 Héed%2>4o )7 HEN-C3x>%Y <3.1E-1
201 11/2,7.8 Hed2>o )7 HEN-C2a2 > 3.0E+0 2.5E+2
202 10/18,11/8 Hed2>o )7 HEN-C2a > <3.61E-1
203 11/2,7 Hed2>4o )7 HEN-C2a2 >4 <3.22E-5
204 11/7 Hed2>o )7 HEN-C2a>%H <3.04E-1
205 11/7 H8%>4%xT!)7 H8-B1R>VY 3.0E-1 5.0E-1 <3.1E-1
206 10/26,11/6,8 Héed%2>o )7 HEN-C1a>¥y 3.0E+0 2.0E+2
207 10/18,11/8 Héed%2>o )7 HEN-C1a>¥y <3.61E-1
208 11/1,6 Héed2>o )7 HEN-C1a>¥y <3.28E-5
209 11/6 H8%>4%xT!)7 H8-B1RVY 3.0E-1 5.0E-1 2.1E+0
210 11/6 Héed%2>o )7 HEN-C1a>¥y <3.1E-3
211 11/21 PN I R(ER Ty DEERREAIvY—K) <3.4E-1 <6.2E-6
212 11/20 PN X(ERA Ty PEEAEAVY—K) <3.6E-1
213 11/27 THEMER 1FL 1.7E+0 1.9E+0
214 11/27 THEmER 1FL 4.2E+0
215 11/27 BEIREMNER 1FL 1.8E+1
216 11/27 BEREMNER 1FL 1.8E+0
217 11/29 —EE FHEEHR E£AkHA <4.6E-1
218 11/27 —EREE HEEHR £AkHA <4.6E-1
219 11/24 —EE HmEHR £AkHA <4.6E-1
220 11/22 —EE FHEEHR E£AkHA <4.6E-1




EERBEE=—2IVITHR 5/17
FEREBEE A TR
PN

#5| owEA RS ‘Saw | Chun | shmm | mEsk

(mSv/h) | (mSv/h) | (Bg/em?) | (Bg/em®)
221 11/20 —HRE FER £KkHRN <4.6E-1
222 11/29 —RHRE F—HBE SAKHRN <4.6E-1
223 11/27 —RHRE F—HBE SAKHRN <4.6E-1
224 11/24 —RRE F—HBE SAKHRN <4.6E-1
225 11/22 —RRE F—HBE SAKHRN <4.6E-1
226 11/20 —RRE F—HBE SAKHAN <4.6E-1
227 11/30 BRENEE 1L 7.0E+1 3.5E+0
228 11/20 BRENEE 1L 1.8E+1
229 12/1 —BRE FHEXZ HLN—tEY 45E-3 <1.0E-2
230 12/1 —RRE F—HBE SAKHRN <4.6E-1
231 12/1 —BRE SmER% 2.5E-2 2.5E-2
232 12/1 —FRE FWUER K@ <4.9E-1
233 12/1 —HRE FER £KkHRN <4.6E-1
234 11/24 SPTERE. &RREANERE 1.2E-2 1.2E-2
235 11/30 REEHESR F_REESEX 4.0E-1 4.0E-1
236 11/24 REEESR F_REESEX 2.0E-2 2.0E-2
237 11/24 EREEESE Sy NITNTRAA 5.0E-2 1.5E-1
238 11/30,12/1 RRERE Py NINTIAN 9.6E+0 1.2E+1
239 11/24 RRERE Py NINTIARW 5.0E-1 5.0E-1
240 11/30 ToteXREEE 1B mAlTzu7 1.6E+0
241 12/1 BE_IREEREE 1.0E-2 1.0E-2 <4.6E-1
242 11/24 BERAREEE Py NINTRA <4.6E-1
243 11/21 2351 T/B BAIv—K 3.5E-1
244 11/17 PN X(ERA Ty PEEAEAY—K) <4.1E-1 <7.4E-6
245 11/16 PN X(ERA Ty PEEAEAVY—K) <3.7E-1 <6.7E-6
246 11/15 PN X(ERA Ty PEEAEAIVY—K) <3.8E-1 <6.8E-6
247 11/14 PN X(ERA Ty PEEAEAY—K) <3.7E-1 <6.7E-6
248 11/13 PN X(ERA Ty PEEAEAVY—K) <3.7E-1 <6.7E-6
249 11/17 —HRE FER £KkHRN <4.6E-1
250 11/15 —HRE FER £KkHRN <4.6E-1
251 11/13 —HRE FER £KkHRN <4.6E-1
252 11/15 —BRE F=WEFR ALN—FA <4.6E-1
253 11/13 —BRE F=WEFZ ALN—FA <4.6E-1
254 11/30 U LREE-HRERS F-HEHXR HIC 1.7E+0 1.6E+2 2.3E+2 9.9E-4
255 11/30 U LREE-HFRERS F-HEHXR HIC 6.0E+0 4.0E+2 >2.7E+2 9.4E-4
256 11/29 U LREEHFRERS F-HEHXR HIC 1.2E+0 7.0E+1 1.6E+2 6.7E-4
257 11/29 U LREE-HRERS F-HEHXR HIC 1.8E+0 1.0E+2 >2.7E+2 40E-4
258 11/30 WHALPSTU7” HIC MEDA-3(ReadE2) 5.0E-2 1.0E+0 <6.5E-1 <9.3E-5
259 11/30 HEHALPSTU7 KEESB 2.0E+0 8.0E-2 1.5E+1 <9.3E-5
260 11/30 WEHRALPSTU7 Bk F(Nob) 1.0E-2 1.0E+0 1.0E+2 <9.3E-5
261 11/29 WEHRALPSTU7 BAKRYFA(FhY bR FT1A) 2.0E-2 1.0E+0 4.2E+1 <9.3E-5
262 11/28 HEHALPSTU7 REEI8C 4 5E-2 3.0E-3 <6.5E-1 <9.3E-5
263 11/17 —RRE F—HBE SAKHRN <4.6E-1
264 11/15 —RRE F—HBE SAKHAN <4.6E-1
265 11/13 —RRE F—HBE SAKHAN <4.6E-1
266 11/16 EUREEMER IFL YUV TI v IR 1.6E+1 2.1E+0
267 11/29 BE=REREZTUT 3.5E+0 6.5E+0
268 11/17 RRERE Py NINTIAN 5.0E-1 5.0E-1
269 11/30 ALPSTU7? HIC CZXHSTAGE2 1.8E-2 <7.0E-1 <1.1E-4
270 12/12 HERBEERREY 7.36E-6
271 12/11 HERBEERREY 1.39E-5
272 12/9 HE#EREY 491E-6
273 12/8 HE#EREY <441E-6
274 12/7 HE#EREY 6.55E-6
275 12/6 HEHEREY 1.04E-5
276 12/5 HE#EREY 567E-6
277 12/4 HE#EREY <7.66E-6
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(mSv/h) | (mSv/h) | (Bg/em?) | (Bg/em®)
278 12/1 HRMEHEEY 4.29E-6
279 12/12 HRBEREREY 10000 X7
280 12/11 HERMGERE Y 12000 ¥
281 12/8 HE#EREY 1.2E-1
282 12/8 AR EEE Y 14000
283 12/7 AR EEmE Y 12000 %
284 12/6 HRMEHEEY 15000 *-1
285 12/5 HREHEEY 16000 *-
286 12/5 HREHEEY 1.3E-1
287 12/4 HREHEEY 14000 *-
288 12/1 HREHEEY 14000 *-4
289 11/30 HERMGERE Y 16000 1
290 11/30 HRMEHEEY 1.5E-1
291 11/30 HREHEEY 4.54E-6
292 12/8 BN Ty 7 4.6E-3
293 11/29 3451 FHKERILVY—K 4EHTHSERY 8.0E+0
294 12/4 35H R/B MAIV—F SRERMEZRED 3.0E+0 1.3E+2 | <3.57E-5
295 11/24 428 T/B IFL XPAOR 7.0E+0 7.0E+0 2.5E+1
296 12/1 Y— RIEBZMRRSIU7) RERSCEY 1.5E+0 4 5E+2
297 12/7 Y— MR ERERERFEIELTY 7) KBV — B LI 3.0E-3 4 9E+1
298 12/6 Y— ROBREREREJEIELY 7)) EMES 2.0E-3 1.0E+1
299 11/30 2EH T/B 2FL PCVAHREES X T LESD 1.5E-2 2.2E+1 <3.66E-5
300 12/1 BB AR 3FL 2.0E-1 35E+0 | <4.93E-5
301 12/8 YA hNVH L BRSEE 5.0E-2
302 11/28 YA MNRUHERBERA~SPTERE 1.2E-2 <1.6E+0
303 11/16 YA CNUHER IFL REBES 3.0E-2 1.8E+1
304 11/22 SPT®&E 2FL SPT(A). SPT(B) 1.4E+0 2.0E+0 1.4E+2
305 12/7 3EH# R/B 5FL #~x7unO 7.5E-1 39E+0 | <3.89E-5
306 12/4 3EH# R/B 5FL #~x7unO 7.0E-1 7.3E+0 | <357E-5
307 11/30 3EH# R/B 5FL #~x7nO 8.5E-1 1.3E+1 <3.49E-5
308 11/30 FrXAURGRET) THEA <1.0E-3 <1.0E-3 11E+1
309 11/29 FrXAURGRET) THEA <1.0E-3 <1.0E-3 4.1E+0
310 12/11 3451 FHKIHERAY—K 6.0E+0 2.6E+1 <4.3E-5
311 12/8 345 FHRERIDVY—F 345HIFHTIERY 4 0E+1 6.5E+1
312 12/7 35# Rw/B &l TREIVTFREUVED 1.8E-1 1.2E+2
313 12/7 35# R/B BwAlv—F HEE& XPWMAO 1.5E+0 4 3E+1
314 12/1 Ax—RED 5.5E-1 5.5E-1 1.7E+1
315 12/12 25 RW/B X4 A OBl 3.0E-1 1.3E+2 | <B.17E-5
316 12/1 25 RW/B X4 A O 2.8E-1
317 12/7 258 RW/B KA O 6.0E-1 34E+1
318 12/12 25t T/B 1FL. 2FL 3.0E+0 5.59E+1
319 11/30 Y— R(ERERERBEXETY7) £X52>9(A) 1.0E+0 1.0E+0 1.3E+2 | <3.78E-5
320 11/29 Y— R EREREZRMBRET)7) KEEB) 2.0E-3 1.0E+1
321 11/29 ¥— R(ERERERBXETY7) CRKEESC 8.0E-3 8.0E-3 7.7E+0 | <B3.83E-5
322 11/28 Y— R(ERERERHEXETY7) CRKEESC 1.6E-2 1.6E-2 1.8E+1 <3.83E-5
323 12/12 Y— R EREREZRMRET)7) KEHEAC) 6.0E-3 1.9E+1
324 12/12 Y— R(ERBHRERWEBIUT) #£X2270) 3.0E-2 1.0E-1 6.4E+0 | <3.78E-5
325 12/11 Y— R ERERERMBRETY 7) #2250 3.0E-1 1.6E+1 <3.78E-5
326 12/1 ¥— R(ERBERERHXETY7) BRKEESBIB 1.0E-2 4.5E-2 24E+2 | <3.83E-5
327 12/7 Y— R(ERBHRERMZBTIY7) BREREETB 1.3E-2 4.0E-2 7.7E+2 | <B3.83E-5
328 12/6 Y— R(ERBHRERMZBIU7) BREREETB 9.0E-3 35E-2 7.5E+1 <3.83E-5
329 12/6 Y— R(ERERERBZXBETY7) £x52>7(0) 5.0E-1 6.0E+0 1.3E+2 | <3.78E-5
330 12/5 Y— R ERERERMBRETY 7) HiLz>9(A) 1.0E+0 1.2E+1
331 12/5 Y— R(ERBHRERMZBTLY7) BRIREHEGEB 1.2E-1 1.0E+1 >1.3E+3 | <3.83E-5
332 12/4 Y— R(EREBERERBRBIVY) BRIT—RE—RVF2B 1.2E-1 5.5E+0 >1.3E+3 | <3.83E-5
333 12/1 Y— R(ERERERBEXETY7) £X2>9(A) 3.0E-3 1.3E+2 | <3.78E-5
334 11/28 SPT#E I1FL 4.5E-1 1.5E+1 >1.2E+3 2.54E-3
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(mSv/h) | (mSv/h) | (Bg/em?) | (Bg/em®)
335 12/11 REMKEERT BL 3.bE-4 <1.92E-1 <3.92E-6
336 11/29 YA bRV H—EE 2FL 2.5E+1 24E+2
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